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15,42, 123, 366, ?, 3282, 9843

IBPS CLERKS PRELIMS

MOCK TEST

Countinued from December 5th

Directions: In the following question an
incomplete sentence must be
filled/completed with one of the
sentences/phrases given below, 1.e. one
of the sentences/phrases can be fit into
the given blanks. Choose the correct
option and complete the given sentence.

21. The pillow fight is a scheduled event,

and freshmen ...... every year as a
celebration after a summer of
training.

1. participate in the pillow fight
2. participated in the pillow fight
3. participate for the pillow fight
4. participating in the pillow fight
5. None of the above

22. Football fans in Spain were rejoicing
on Friday ...... predicted their team
will win the FIFA World Cup.
1. where an octopus named Paul
2. by an octopus called Paul
3. after an octopus called Paul
4. which an octopus called Paul
5. None of the above

23. The experiment was designed to
explore the boundary between
conventional physics and quantum
physics, ...... extremely small objects.
1. who applies only to
2. which only applies to
3. what also applies to
4. but also applies to
5. None of the above

24. Curtis Cooper, a mathematician and
computer science professor has
discovered ...... to date on January 25.
1. the larger known prime number
2. the large known prime number
3. a large known prime number
4. the largest known prime number
5. None of the above

25. The siege at the Polytechnic
University on the Kowloon peninsula
appeared to be nearing an end ......
dwindling to a handful.
1. and a number of protester
2. yet the number of protester
3. with the number of protesters
4. but a number for protesters
5. None of the above

Directions: In the following passage there
are blanks, each of which is numbered.
Fill in the particular blank as mentioned
below with the appropriate option.

Think what a remarkable and miraculous
thing it is to be you! Of all the people
who have come and gone on the earth,
...... (i)...... the beginning of time, not
ONE of them is like YOU! No one who
has ever lived or is to come has had
your combination of abilities, talents,
appearance, friends, acquaintances,
burdens, sorrows and opportunities.
No one has the same combination of
...... (ii)...... inside jokes and family
expressions that you know. The few

26. Fill blank (i) Directions: Study the data and answer the
1. as 2. When 3. through question that follows.
4. since 5. for
27. Fill blank (ii). Given table shows the number of
1. secret 2.Clear 3. petty candidates that appeared in a
4. simple 5. deep competitive examination from Delhi,
28. Fill blank (iii). HP, UP, Punjab and Haryana over the
1. chew 2. Laugh years 2000 to 2004.
3. snore 4. talk
5. imagine P
g . .
29. Fill blank (iv). States Punjab Haryana Delhi  HP = UP
1. prayers 2. Subjects 2000 450 455 451 451 511
3. 1llustrations 4. concerns 2001 233 182 325 551 562
5. methods 2002 560 478 529 822 321
30. Fill blank (v). 2003 264 581 265 210 450
1. GREAT 2.GENIUS = 2004 752 841 856 378 896
3. UNIQUE

4. BRILLIANT 5. WINNER

Directions: Study the bar graph given
below and answer the following
question.

36. What is the average number of
students that appeared from Delhi?
1. 485 2.355
3. 499 4. 658 5.458
37. Maximum number of students
appeared for competitive examination
— - in which of the following years?
— : 1.2003 2.2004
3.2000 4.2001 5.2002
38. Percentage of candidates who
appeared from Punjab over those who
appeared from Delhi is the lowest in
which of the following years?
1.2004 2.2000
3.2001 4.2002 5.2003
39. Maximum number of candidates
appeared in competitive exam from
which of the following states?

: _ 1. Punjab 2. Haryana
TRTE DR SNEEDE S O 3. Delhi 4. UP 5.HP
Bar graph given below shows the 40. Find the difference between the

number of students in different
courses of a college over the period of

number of student that appeared for
the competitive exam in 2001 and

3 years. 2004.
Note: Total number of students in college 1.1650 2. 1740
= Students in (Commerce + Science + 3. 1780 4. 1820 5. 1870

Humanities + Mathematics + Sports) 41. What should come in place of question
streams mark (?) in the following

31. What is the ratio of total number of simplification problem?
students in Science stream over the (216 - 12+ 2=44+11

period of 3 years to the total number 1. 11 2.26
of students in all the streams in the 3.18 4. 13 5.15
year 20177 42. What should come in place of question
1.78 : 101 2.98:191 mark (?) in the following
3.45: 61 4.90:191 5.89:91 simplification problem?
32. Total number of students in Science, V22 _ 185 + 856= 36
Sports and Humanities streams in 1.26 2.21
2018 is approximately what percent 3.23 4.25 5.24
more or less than the total number of 43. What should come in place of question

students in Mathematics, Sports and
Commerce streams in 2016?

mark (?) in the following
simplification problem?

1. 50% less 2. 52% more ?2+7x3=5-1
3. 41% more 4. 45% less 1.79 2.58
5.35% less 3.56 4.25 5.57
33. What is the approximate percentage 44. What should come in place of question

change in total number of students in
Sports and Mathematics streams from

mark (?) in the following
simplification problem?

2016 to 2018? 7% of 56 +~ 3% of 90 =?
1. 6% 2.5% 1.2.56 2.1.45
3.4% 4. 3% 5.2% 3.1.58 4.5.53 5.1.17
34. Find the difference between average 45. What should come in place of question

number of students in Mathematics
and Sports streams in the year 2016,

mark (?) in the following
simplification problem?
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19, 36, 2, 64, 75, 84
1.23 2.51
3.35 4.41 5.49

48. What should come in place of question

mark (?) in the following series?
5,13, 25,7, 61

1.41 2.56

3.31 4.37 5.47

49. Directions: In the following question,

a number series is given with one term
missing. Choose the correct
alternative that will continue the same
pattern and replace the question mark
in the given series.

7,26, 63,124, 215, 342, ?

1. 391 2.421

3. 481 4.511 5.501

50. What will come in place of the

question mark (?) in the following
series?

15, 42, 123, 366, ?, 3282, 9843
1.752 2. 810

3. 895 4. 1095 5. 1120

51. Directions: From the given equations

numbered I and II, determine the

relationship between x and .

L4x"-20x+21=0

IL 9y’ -27y +20=0

l.x<y 2.x<y

3.x>y 4.x>y

5. x =y or relationship cannot be
established

52. Directions: From the given equations

numbered I and II, determine the

relationship between x and vy.

LxX+7x+12=0

ILy +15y +56=0

l.x>y 2.x>y

3.x<y 4.x<y

5. x =y or relationship cannot be
established

53. Directions: From the given equations

numbered I and II, determine the
relationship between x and vy.

L12x -28x+15=0

IL 4y’ - 20y +21=10

l.x>y 2.x>y
3.x<y 4.x<y

5. x =y or no relation can be established

people who ...... (iii).eeee. at all the same
things you do, don't sneeze the way
you do. No one prays about exactly
the same ...... (iv).eeee. as you do. No one
is loved by the same combination of
people that love you — NO ONE! No
one before, no one to come. YOU ARE
ABSOLUTELY ... (V)eeeees !

epaper. ntnews, com

2017 and 2018. 1.4% of (153 x (14)° + 12)=?
1. 21 2.24 1.420 2.430
3.22 4.28 5.32 3. 426 4.427 5.428
35. Total number of students in Sports 46. What should come in place of question

stream in year 2017 and 2018 is what
percent of total number of students in
Humanities stream in year 2016 and
2017?
1.57.3%
3.77.3%

2.67.3%

4. 87.3% 5.97.3%

47.

mark (?) in the following series?
9,?,63,96, 125

1.22 2.32
3.23 4.29 5.31
What should come in place of question

mark (?) in the following series?

ANSWERS

21-1
27-1
33-2
39-4
45-1
51-3

22-3
28-2
34-2
40-5
46-2
52-2

23-2
29-4
35-2
41-3
47-2
53-4

24-4
30-3
36-1
42-4
48-1

25-3
31-2
37-2
43-3
49-4

26-4
32-2
38-3
44-2
50-4



